

























































































132.

133.

134.

135.

If a day before yesterday was Tuesday, then what day of the week will it be on a day
after tomorrow?

(A)  Monday (B)  Wednesday

(C)  Friday (D)  Saturday

If 15" August, 2017 was Tuesday, then what day of the week was it on 171
September, 20177

(A)  Sunday (B)  Saturday

(C)  Friday (D)  Thursday

Tia and Renu both are walking away from point ‘X’. Tia walked 3 m and Renu
walked 4 m from it, then Tia walked 4 m North of X and Renu walked 5 m South of
Tia. What is the distance between them now?

(A)  95m (B) 9m

© 16 m (D) 1140m

Tanaya travelled 4 km straight towards South. He turned left and travelled 6 km
straight, then turned right and travelled 4 km straight. How far is he from the starting

point?
(A) 8km (B) 10km
(C) 12km (D) 18km

Directions (Q. 136 — Q. 140): Read the following short passages and choose the best
answers to the questions that follow each passage.

136.

137.

Therapists have just completed an extensive study of recently delinquent juveniles in
order to determine which factors contributed most to the delinquency. The researchers
found that in a great majority of the cases of delinquency, the parents met, on average,
fewer than 4 times per week with their children. From this data, the therapists have
determined that a failure to spend time together with the children is a major factor
leading to delinquency.

Which one of the following, if true, would cast the most doubt on the researcher’s

hypothesis?

(A)  Parents and children in the study who reported that they met each other more
than four times per week also indicated that they tended to perceive their
relationships as healthy.

(B) In many cases, people in unhappy family tend to express their displeasure by
avoiding contact with each other when possible.

(C)  Most of the families in the study who were unable to meet often with each
other worked outside of the home.

(D)  Many families who have a long and strong family bonding met each other
fewer than four times per week.

Several coaching centres have recently switched at least partially from study material
written by hand on printer paper from study material written on a computer and sent
electronically with no use of paper at all. Therefore, less printer paper will be used as
a result of these changes than would have been used if these coaching centres had
continued to use handwritten study materials.
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138.

139.

140.

Which of the following, if true, most strengthens the argument above?

(A)  The amount of printer paper needed to explain the electronic study material is
less than the amount that would have been used for handwritten material.

(B)  Coaching centres that used more printer paper were more likely to switch to
electronic materials than centres that used less printer paper.

(C)  Some of the Institutes that have switched at least partially to electronic study
material still primarily used printer paper for other operations.

(D)  More printer paper was used to create manuals for the use of electronic study
materials than was used to write handwritten materials.

In visual media, it’s possible to induce viewers to project their feelings onto
characters on the screen. In one study, a camera shot of a girl’s face was preceded by
images of a still river. The audience thought the girl’s face registered contentment.
When the same girl’s face was preceded by images of a mighty and violent tsunami
wave, the audience thought the girl’s face registered fear. Media news teams must be
careful to avoid such manipulation of their viewers.

Which of the following is best supported by the information in the passage?

(A)  The technique for manipulating audiences described in the passage would also
work in an audio program that played dramatic music.

(B)  Audiences should strive to be less gullible.

(C)  Images of a still river engendered feelings of happiness in the audiences.

(D)  The expression on the woman’s face was, in actuality, blank.

Although measuring the productivity of outsourced workers is a complex endeavor.
Company X, which relies heavily on outsourced workers, must find ways to assess
the performance of these workers. The risks to a company that does not review the
productivity of its human resources are simply too great. Last year, Company Y was
forced into receivership after its productivity declined for three consecutive
quarters.

The clauses in the italics in the above paragraph, play which of the following roles in

the argument above?

(A)  The first clause in italics express a position, and the second warns against the
adoption of that position.

(B)  The first clause in italics represents the author’s conclusion, and the second
supports the conclusion with an analogy.

(C)  The first clause in italics states the author’s premises, and the second states the
author’s conclusion.

(D)  The first clause in italics provides background information, and the second
offers evidence to contradict that information.

A telephonic poll conducted in two states asked respondents whether they get
adequate water during summers. Ninety-nine percent of respondents said their houses
were having running water through-out the day. The pollsters published their findings,
concluding that ninety-nine percent of all homes in India have adequate water for use.

Which of the following most accurately describes a questionable technique employed
by the pollsters in drawing their conclusions?
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141.

142.

143.

144.

145.

146.

147.

(A)  The pollsters conducted the poll by telephone, thereby relying on the veracity
of respondents.

(B)  The pollsters never defined the term “adequate” in terms of a specific quantity
of water.

(C)  The pollsters didn’t visit respondent’s houses in person, so no measure of
adequacy of water during summers in a subject’s house was actually made.

(D)  The poll assumes conditions in the two states are representative of the entire
country.

SECTION - E : MATHEMATICS

If the third and the tenth term of an arithmetic progression are 14 and 56, respectively,
then the arithmetic mean of the first 15 terms of the arithmetic progression is

(A) 40 (B) 44
(C) 80 (D) 34

Ronnie has a bag containing 7 red and 9 green balls. From it, he draws out 6 balls
simultaneously at random. The probability that 4 of them are red and the rest are
green is

24 45
(A) 1175% (B) 237062
©  Zoor D 7o

City A is connected to City B by four highways and City B is connected to City C by
three highways. Kesari wants to travel from City A to City C via City B. In how many
ways, Kesari can do it?

A) 4 B) 7

<) 10 (D) 12

The number of integral values of x satisfying the inequation |x| <4 is
@\ 7 B) 8

< 9 (D) 10

If the price of each book goes up by X 5, then Asha can buy 20 books less for X 1200.
Find the original price and the number of books Asha could buy at the original price.

(A) 225,50 (B) 20,60
(C) 115,80 (D) 10,90

If 2* = 7" = 14?, then find the value of z in terms of x and y.

(A) x+y/x-y B) xw/x+y
©  x+tytxy D) -Gty

Bhiku borrowed some money from Dhanraj to admit his daughter in a reputed Law
School. He agreed to pay the interest-free loan of ¥ 60, 000 in a monthly installments
which increased by a constant amount. After the 20™ installment, he found that he has
paid % of the loan. If the entire loan was cleared this way in 25 installments, find out
the value of the first installment.

(A) 1560 (B) %1067

(C) 1680 (D) %1987
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148.

149.

150.

A vessel contains an 80% alcohol solution. 20% of the solution was removed and
replaced with water. If this process is repeated, find the percentage of alcohol which
remains in the solution.

(A)  64% B) 51.2%

(@) 50.6% (D) 45%

Arsh takes up a job, wherein each working day he is given a target. For each day, he
meets the target he is paid X 105 and for each day he does not meet the target he is
paid X 18 less. If by the end of a month, he is paid total of X 2988, then how many
days does he meets the target?

A) 21 B) 12

(© 10 (D) 14

A fruit vendor purchases two varieties of oranges at the rates of 12 oranges for X 18
and 18 oranges for ¥ 12. He mixes the two varieties in the ratio of 2 : 3 and sells the
mixed stock at a price of X 144 for 10 dozens. What percentage of profit or loss does
he make?

(A)  26%% (B)  34%%

C)  20% (D)  28%

kkskoskosk
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